
Perhitungan moisture conten 

               Mc (A) =    
Ma−Mb

Ma
× 100% 

              =     
9,80−7,10

9,80
× 100%   

     =  27,55% 

            

               Mc (B) =    
Ma−Mb

Ma
× 100% 

              =     
10,15−8,10

10,15
× 100%   

     =  20,19% 

 

   Mc (C) =    
Ma−Mb

Ma
× 100% 

              =     
7,80−6,10

7,80
× 100%   

     =  12,82% 

            

               Mc (D) =    
Ma−Mb

Ma
× 100% 

              =     
8,50−7,40

8,50
× 100%   

     =  12,94% 

 

               

 


